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The following table shows the cumulative percentage distribution of the total number of visitors
to Kullu and Manali together and cumulative number of visitors to Kullu on five different days,
that is Monday to Friday. Based on the data in the table, answer the questions.

Day-wise Distribution of visitors
Dav Cpmula‘rix‘e percentage of iL(l‘urnulztti'\'e number of Visitorg
Visttors to Kullu and Manalifto Kullu

Monday 15% 360

Till Tuesday  p0% 1060

Till Wednesday[70% 1340

Till Thursday  [80% 1700

Till Friday ~ [L00% 1960)

Note: Total number of visitor to Kullu and Manali together in all five days is 4000
Sub questions
Question Number : 1 Question Id : 34212313760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total number of visitors to Manali on Monday and Wednesday is % of the number
of visitors to Kullu on Wednesday.

1.200

4.50

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average number of visitors to Manali on all the days except Monday?

1. 560

1]
e
i}
=

4. 450
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If 20% of the visitors to Kullu on Tuesday are foreigners and 40% of the visitors to Manali on
Friday are foreigners, then what is the total number of visitors to Kullu on Tuesday who are not
foreigners and to Manali on Friday who are foreigners?

1.920
2.776
3.984

4. 344
Options:
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average number of visitors to Kullu on Monday and Thursday is % less than the
number of visitors to Manali on Wednesday.

13329
2.63.89
3.67.44
4.50.28

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of visitors to Manali on Wednesday to the number of visitors to
Kullu on Thursday?

1%)

2.43

4.34

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313759 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Till Tuesday  p0% 1060
Till Wednesday|70% 1340
Till Thursday  [80% 1700
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Sub questions

Question Number : 1 Question Id : 34212313760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIUGR 3R R Pl Heflcil & T &I el G §HdR Pl Gog b T ol GBI 6l
{1 Wi g7

1.200
2. 150
3.125

4.50
Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212313761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR Bl BISHR G el H 71l & Ted! $f Sigd T fdhdHi g2

1. 560
2.520
3.490
4. 450

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212313762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR 1 ee] o 20% T fa¢eit § T TR Bl THTelt d 40% Thed faei g,
TR P! e d d T fesil g1 ¢ 7u1 LhaR &1 THTelt o 4 Wed ol faeeil g, Bl
Gl U fobedl 2

1.920
2.776
3.984

4. 844

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212313763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR 71 TR @l Hecl & THCh! B 310 S §HaR &1 TNl & Ted] &l §e @l
e fde TIaerd (%) BH 2

1.53.29
2.63.89
3.67.44

4.50.28
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212313764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mﬂaﬁrmﬁﬂ%wﬁmaﬂmﬁm%Wﬁ@wﬁww

1962
2.43
3.2:9

4.34
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123541
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212313765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of learner centered Approach?

A. It lays emphasis on skills

B. It is centered on learner's needs

C. It 1s centered on cooperative determination of subject matter
D. Lays emphasis on variability of exposure

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A, Band C only
3.A.B.Cand D

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212313765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Il bi<d SUNH DI fa=ivdrt Fgfafad 9 &1 9 g2

A T BN R IASdl g

B. 48 MU THGC & ATaRUGdI3 IR dBid gidi g
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|.®Hadd C 3R D
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(o

A,B.C3RD
4. Had B AR D

Options :

[



1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a free and Open-source content collaboration framework based on
Javascript that enables existing CMSs and LMSs to create richer content?

|. H5P
2. Plotagon

3. Mindmeister

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212313766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

779 1 g offa fpp R 3R 98 B 91 e 9 e A 9] UgHR hodah § ol
AT Y1 0 T 31X U O 0 1 3Hfeleh T ferg- o ot Tl el T e aTer 82

1. H5P

. TN
3. HgSHERA

4, TR

Options :
1.1
2.2
3.3
4.4




Question Number : 8 Question Id : 34212313767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child of first class is trying to learn how to draw a circle on his own but is able to do with the
help of his/her teacher. In the light of Vygotsky's theory, it highlights?

. Assimilation
2. Adoption
3. Zone of proximal development

4, Maturation

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212313767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS 8T 1 U a1 T TR G &7 bl T X g ¢ o] oI 18086 1 g
T e o U7l | faTan! o gl o aireileh 0 fobl i el 2

1. THTHRT

R DORL
3. PR fapm &7
4. URUEA

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Project method of teaching was first propounded by.

1. Crow and Crow

(i)

. John Dewey

(el

. Robert Miller
4. Robert Mager

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212313768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRreror 1 ufvarsn fafer &1 fdured gduyA fogr fear ur
1. ST 3R oI

ol f&dt

3. ¢ fHeR

4. 3¢ UIR

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 10 Question Id : 34212313769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWAYAM is a programme initiated by.

|. Government of India

(i)

. National Council of Education Research and Training
3. University Grants commission
4. Indira Gandhi National Open University

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212313769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y (SWAYAM) foh &b gRT SR fohdl 781 Ueh HrihH 62
1. HRd TP

3. fayfaenery o ar 2T

4. ey riel ¥y Had fayfaemey

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 11 Question Id : 34212313770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a conclusion incorporates a casual relationship between two or more variables it has measured.

. External validity
2. Internal validity
3. Replicability

4. Conceptualisation

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212313770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i U IS &1 47 34fefe TR o i BRUNED Yeit] bl GAIAY Bl g ol G fehpT
YA X o g2

1. TR dYel
2. AR defaT
3. GRIgheid (Rteidsfafed)

4. AGYRUDRT
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An instrument used in structured observation that mentions the categories of behaviour to be
observed is known as.

1. Category schedule
2. Observation device
3. Observation schedule

4. Ontological tool

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212313771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Viefor & We gi-aTel 39 T Pl b 0 H o1 fel 8, S Uied fobt o ared
FER & q bl Jwhg HRell g7

CUEENEER)
2. D& e (f3arey)
3. VIefuT gt

1, TAHA® SIS ()

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Response of participants who are well aware of the fact that they are being studied is considered
as.

. Directed response
2. Intentional response
3. Desire effect

4. Reactive effect

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212313772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I WiMITT 1 Sfeha bl ol AT el €, ol 29 e Y Ui § b e IR o ofege
FRIEIRSE,

1. FG TR i
» IR o

3, qifad UHE
4. i TTeHE I

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are different tvpes of ethnography?

A. Classical ethnography

B. Mainstream ethnography
C. Post-modern ethnography
D. Private ethnography

E. Expressive ethnography

Choose the correct answer from the options given below:

1. A, B and C only

(]

.B. C and D only
3.C.D and E only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212313773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research makes use of.

1. Scaling

. Factoring

3

L

. Representative quotations

4. SPSS
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212313774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIEIURD 2N [HHepT ST Pl 82
1. 3FHIY (T i)
PR (G0 (Ha )

[

3. UfdMs IS0

4, T U THTY

Options :
1.1
2.2
3.3
4.4



Question Number : 16 Question Id : 34212313775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ancient times, the oral communication system operated in an environment that was.

|. Literate
2. Urban

3. non-representative

4. Mediated
Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212313775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui i | fdhd arrarl H HiRad GRISo Yollel &l GREferd faal STl 41

1. Y&

2. TR

3. 7R - faffed
4. H1eAd (HIfSTCS)

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Any study of messages at the recelvers stage is known as.

1. Communicator analysis

(i)

. Message analysis

(el

. Noise analysis
4. Audience analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212313776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui & IR0 IR Yo & fardl 4T e &l {69 =0 H S Sl 82
1. GRS [a%eu

2. Gaxl fazeyu
3. QIR fa=emor (Higs THIfeiE)
4. TR (3TSTY) fazemur

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are main functions of mass communication?

A. Detachment of individual from society

B. Indulge in message creation without worrying about moral consequences
C. Surveillance of environment

D. Transmission of social heritage

E. Correlating the parts of society in response to environment

Choose the correct answer from the options given below:
1. A, Band C only
2.C.Dand E only
3.A.Band D only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212313777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For preservation of their power the ruling elites seek from media channels.

1. Societal intelligence
2. Entrepreneurial partnership
3. Digital technology diffusion

4. Voices of dissent
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212313778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl 30! Al & TR0 g At aHal U 8 & 4 &1 9rgd g2
1. eI gfgadn

2. JEHITAT YR
3. TefSed Uit faarur
4. [y BT TR

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212313779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Individual who live in a particular community develop distinctively patterned systems of
L. Information distribution
2. Media ownership
3. Media marketing
4. Information imperialism

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212313779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U oI Tegery e ol et eafeeal o e o © o 4 ot egw U] et orifera
fao i 81 ofel 62

1. G faeRT
2. Hifsr w@iffd
3. Wit fquur

4, qd-il <lHleddlq

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two persons X and Y invested 15,000 and 20,000, respectively, in a business. At the end of
the year, they share the profit in the ratio of 3:1. If X has invested his money for the whole year,
for how many months Y has invested his money?

1.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212313780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TGl X AR v < U oaw H R 2 15,000 3R 2 20,000 1 e foan| au & 3iq |
I Y Pl 3:1 B STt | e foran| 9 x 3 o e Bl FHT R b feru foar g at y
3 A B Y e AR o fau fa €

1.3
2.6
3.5
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain code language A is coded as Z, B is coded as Y. C s coded as X, and so on. How
‘PERFECT’ will be coded in that language?

1. KVIUVXG
2. KVIVUXG
3. KVIUVGX
4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212313781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @ HWI T A DI 2 &Y Hpedg (b1 TS, B Pl Y & ¥ 1 dess [T g,
B X T T hds (51T g AR SHITHR 3T Heds il T g1 Iad ¥ |
PERFECT" Pl ¥ B (g1 ST

L. KVIUVXG
2. KVIVUXG
3. KVIUVGX

4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum of money becomes 34800 in 2 years and ¥ 42,000 in 5 vears at simple interest per
annum. Find the rate of interest and the sum of money respectively

1. 6%, T 40,000
2. 7%, T 30,000
3. 8%, 230,000

4. 5%, T 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212313782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U YR 1 QYR ST 63 TR 2 a4 H 2 34800 3R 5 34 H 242,000 81 ST 5| oA
T & d 4RI J1d DI

1. 6%, 40,000
2. 7%, 2 30,000
3. 8%, 3 30,000

4. 5%, 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below?
1,7,16,28,43,61,827

1. 102

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212313783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad 4@ o ugdarEs &g (2) &1 SH 9 G uidwiiud e

1,7, 16, 28, 43, 61, 827

L. 1

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In an examination, average marks of six students is 50. However, during cross checking of the
papers, it is found that the marks of one student has been misread as 48 instead of 84. Find the
correct average marks of the students.

152
2.54
3.56

4.8
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212313784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U WRie ¥ B¢ faaiial o Jied 3ie 50 | It U1 1 O: i e o 7 i U
faeef & ofh] I 84 o W W Telelt 4 T feran 7 o1 | ferrfeat oo g 3t o 1l
DI

1.52

3. 56

4. 58
Options :
1.1
2.2

3.3
4.4

Question Number : 26 Question Id : 34212313785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which informal fallacy is committed in the following statement “Famous actor Jimmy Pecker has
said 1n an interview that astrology s a real science, therefore scientists now must acknowledge
that astrology is actually a science."?

1. Appeal to Inappropriate authority

2. Red herring

3. Strawman

4. Appeal to Ignorance

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212313785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiRad e H I SIS b - 19 62
<TG SAHAT o U A T TYTHR H $gl g b S foqH U ardfd fag .
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1. TG TPR U 3G
2. YIHE Udhd (38 2T

3. 919 1 el (RTEH)

4. WIS e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are subalternate as per traditional square of opposition?

A. All plants are green organisms

B. No plants are green organisms

C. Some plants are not green organisms
D. Some plants are green organisms

Choose the correct answer from the options given below:

1. Aand D only

2.Band D only

v

3. Aand C only

4. Aand B only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212313786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad ® O 19 Y- 3y & URMRE 37 & 3Ulfyd g2
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B. Bl H1 U1y gRd Siid 181 §|
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|.®ad A 3R D
2. Hdd B 3R D
3. hdd A 3R C

4. Hdd A 3R B

Options :




1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All cats are carnivorous animals

B. All non-carnivorous animals are non-cats
C. No cats are non-carnivorous animals

D. Some carnivorous animals are cats

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and D only
3.A. Cand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212313787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. Tt fafcerat e o €|
B. T4 TR - igRI U R - fafeedi g
C. By Yl faeedl TR - AiAeRI uxy gl ¢
D. $% Uil U fafcerdi B

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HId A, B3R C
2. $HddB, C AR D
3.PdA A, C 3R D
4.Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “all lions are carnivorous animals” is given as true which of the following
statements can be immediately inferred to be false?

A. No lions are carnivorous animals

B. Some lions are carnivorous animals

C. Some lions are not carnivorous animals
D. Some carnivorous animals are lions

Choose the correct answer from the options given below:

I.Cand D only
2. Aand C only
3. Aand B only

4. B and C only



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212313788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 39 e ] 2R IR U= ¢ 1 U o U 4 T T € ol e H ¥ o
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A % TR AR R e ¢
B. §8 T AR TR ¢l

C. 39 W AWK T T3l ¢
D. T8 HiTgR T R ¢

i U fodedl 4 Y 9T SR P 99 DI
1. Badc 3R D

2. HIdA IR
3. Hdd A IR B
4, HaAB AN C

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per classical Indian school of logic (Nyaya) which of the following fallacy is committed when
the middle term is too wide?

. Anupasamhari
2. Badhita

3. Sadharana

4. Asadharana

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212313789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT HRTY T - 7 (A7) & 3R S He UG Sfcfiies fogd gid1 ¢ f 99
fafeiRad H T I dd - QN giell §2

1. SRR
2. 911

3. IHRY

4, YR
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following snapshot of MS-Excel worksheet:

A B E D
17|Day Quantity | Sales Amount (3)
18| Monday |1 234
19| Tuesday |3 144
20| Wednesday|6 367
21| Thursday |3 674
22| Friday § 1099
23| Saturday |3 233

In cell D18, the value returned by the function.
=SUMIFS (C18 : C23, B18 : B23, *“>3", C18: C23, “ >500") is

1. 1466

]

. 2140
3. 1773

4.26

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212313790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B |c D
17|fe&A HET | faepg i (3)
18|9HarR |1 [234

19[HTgaR |3 [144

]
f—
LA
L)

-1
N

[
Ly
L
[t
Lad
L3

Cell D18 H 99 e gRT oAt d Hed a1 82
=SUMIFS (C18 : C23, BI8 : B23, “>3", C18 : C23, “ =500")

l. 1466

[

2140
3. 1773
4. 26

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of Computer Networks, which of the following best describes the transmission of a
message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.
2. Data packets will always follow the same route and arrive at the same time in the same order

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order



Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212313791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U Yl
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3. 51 Udve GHT U g1 A1) offl W P 6 A - ol vl R U e
4. 51 Udhe fird - fot o] of el § U o 0 Uah 1 6 H Udh 1 90 R U1

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212313792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Number system?
1. The binary equivalent of the decimal number 57.625 1s 111000.101

2. (145)6 =(75) 10

L

. (1011), +(1001), = (20)10

4. (65)10=(220)s

Options:
1.1
2.2
3.3



4.4

Question Number : 33 Question Id : 34212313792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UITelt & Heel H 95 # 9 b G HY Tl ¢
1. G U7 57.625 DI fgaR ded 111000.101 B

[

: {145}6 = {75] 10
3.(1011); +(1001), = (20)1

4. (65)10=(220)s

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212313793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Read Only Memory (ROM) are correct?

A. The contents of the memory remain intact even when the power to the ROM is turned off
B. ROM is often used to store the start-up instructions when the computer is first switched on
C. As the ROM becomes full, the processor has to continually access the hard disk

D. ROM is a volalile memory

Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3. Aand C only

4 A B CandD

Options :
1.1
2.2
3.3



4.4

Question Number : 34 Question Id : 34212313793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

had U610 Wit (3R 311 TH) o Gelef ¥ gl § 4 b 4 6o Gl g2
A, 3R 31 T 1 faeyd Sgfd oG g W i i (@TR) 31 sfdde sied Bl ¢

B. 3R 3l T &1 TN G541 HUeR i Uged el el IR SR (RTE 310) 3 b
SRl & folt far oI g

C. 3R 31 TH & 4R 9 T WIEER 1 AR §TS %6 BT ST 1 gl o
D. 3R 3l UH U qleiic #id |
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2. HadB AR C
3. HaA AR C

4. A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about computers?

1. The quality of the pictures taken by a digital camera depends on its resolution, which is
measured In megabytes

2. USB stands for Universal Secure Bus
3. Microsoft Excel is an example of system software

4. The size of a computer monitor is measured diagonally across the screen

Options :



1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212313794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212313795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is used as a reference to measure the Global Warning Potential
(GWP) of a green house gas?

L. Carbon dioxide (CO,)
2. Methane (CH,)

3. Chlorofluorocarbon (CFC)
4. Hydrofluorocarbon (HFC)

Options :
1.1
2.2



3.3
4.4

Question Number : 36 Question Id : 34212313795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P B3 T 1 dfiieh o HToda (oft Saey i) 1 1O i fere fferieaa | 3 foerant
T & wu H T fdar o g

L, IS ST 3MTIZS (CO,
2. A (cHy)

3 L&

3. FARTRRIBTEH (CEC)

4. FEGIRRIDISH (HEC)

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212313796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal 7 is related to.

1. Gender Equality

[

. Climate Action

(]

. Affordable and Clean energy
4. Quality Education

Options :
1.1
2.2
3.3
4.4



Question Number : 37 Question Id : 34212313796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(el
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Toxic substances that damage kidneys are called as.

|. Hematotoxic

3

. Neurotoxic

(]

. Cytotoxic’
4. Nephrotoxic

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212313797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG I & Uga dTdl fawred gl &1 fafofad H 9 a1 gl o g
1. gHTCICiagd
2. Rl D
3. ggeleliqyd
4, ApICiaaD

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Montreal Protocol is related to protection of.
1. Biodiversity

. Glaciers

b3

(]

. Oceans
4. Stratospheric ozone layer

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212313798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qifead Ureiald fhddb &1 H Traied g2
1. oId fafgerd

[

3. 9%
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 40 Question Id : 34212313799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of organic pollutants in water.

A. Salts

B. Pesticides
C. Dioxins
D. Bases

E. Pigments

Choose the correct answer from the options given below:

1. A, Band C only

(]

.B. C and D only

LS

.C.D and E only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212313799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U BTeS (D) UgRd! & Hgfafad § o 9 Jaeru g

A, cIdu]

B. DI AR
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D. &R
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A fGu U [ dl 7§ ¥ 3T SR &1 99 DT
. $dd A B AR C

2. HIA B, C IR D

3. $Had C. D IR E
4. HAAB. C AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212313800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Buddhist system of education higher education was placed at.

1. The first level

(i)

. The second level

(el

. The third level

4. The forth level
Options :
1.1
2.2
3.3



4.4

Question Number : 41 Question Id : 34212313800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 9qd &R

o]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a deemed to be university?

1. Perivar University, Salem

[

. Nagaland University, Kohima

(]

. Guru Ghasidas Vishwavidyalaya, Bilaspur
4. Gandhigram Rural University, Madurai

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212313801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 43 Question Id : 34212313802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is included among the core values promoted by NAAC (National
Assessment and Accreditation Council) among the institutions of higher learning

1. Framing National Education Protocols
2. Promoting religious education
3. Total Privatisation of education

4. Fostering global competencies among students and teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212313802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Fort William College?

A. Its medium of education was English

B. Lord Wellesley taught here

C. Ishwar Chandra Vidyasagar taught here

D. It was here that Ishwar Chandra Vidyasagar Studied along with Subhash Chandra Bose

Choose the correct answer from the options given below:

1. A, Cand D only
2.Band D only
3.A.B,C.D

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212313803 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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|.hdd A, C 3R D

2. HadB AR D

3.A,B,C,D

4. HITA R C
Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to National Education Policy 2020, which of the following universal human values
will be considered as an integral part of holistic education?

A. Truth

B. Sympathy

C. Righteous conduct
D. Nonviolence

E. Scientific temper

Choose the correct answer from the options given below:

l. C and E only
2.B,Dand E only
3.A,C.DandE only

4.A,B,Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212313804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123542
Question Shuffling Allowed : No

Question Id : 34212313805 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



The field ecologist has played a key role in shining the light on the species we love and admire.
They have also underlined why conservation should not be just about caring for a few charismatic
species-the cats, elephants, whales, or Olive Ridleys. It's also about knowing the value of
creatures many of us might consider annoying, even dangerous. For millennia, communities have
attempted to protect animals and plants for practical and spiritual reasons. However, for around
two centuries or so, an anthropocentric view of the world created an ecological discord of sorts.
Utilitarian ideas began to dominate attitudes towards nature, which often meant that even
conservation had a strictly commercial purpose.

Modern environmental consciousness is perhaps about six decades old. In India, organisations
such as the Bombay Natural History Society date back to the late [9th century and the endeavors
of hunters-turned-conservationists played an important role in underlining the value of several
species. But systematic efforts in mainstreaming ecology began much later and owed much to the
works of pioneers like Salim Ali and M Krishnan,

Sub questions

Question Number : 46 Question Id : 34212313806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utilatitarian ideas started dominating attitudes towards nature about.

1. 2000 years ago

[

. 60 vyears ago
3. 100 years ago
4. 200 years ago

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212313807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Modern environment consclousness Is.

1. ~ 20 years old

(]

. ~ 40 years old

(]

. ~ 60 years old
4. ~ 100 years old

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212313808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the charismatic species based on the information given in the passage.

A. Deer

B. Whales
C. Elephants
D. Dogs

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212313809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements.

A. Conservations is all about caring for the species we love and admire
B. Communities have been living in ecological harmony for the last two centuries

C. Field ecologists have contributed to our understanding about the value of different species in
our lives

D. Salim Ali is considered as pioneer in India in the field of mainstream ecology
Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3.Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communities have been involved in the protection of plants and animals for the last.

L. Several thousand years
2. 200 years only

3. 60 years only

4. only recently

Options :
1.1
2.2
3.3
4.4

Question Id : 34212313805 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212313806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 2000 94 Ugdl
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3,100 99 Ugd
4,200 9N Ugdl

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 34212313807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 48 Question Id : 34212313808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. hdd A 3R B
2. HAdB 3R C
3.$ad C 3R D
4.Hdd A 3R D

Options :
1.1
2.2
3.3
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Question Number : 49 Question Id : 34212313809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212313810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
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3.3
4.4

Urdu
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Section Marks : 200
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212313811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212313811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212313812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 34212313812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 34212313813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 34212313813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1

2.2
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Question Number : 54 Question Id : 34212313814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212313814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2



3.3
4.4

Question Number : 55 Question Id : 34212313815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 34212313815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 34212313816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212313816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212313817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212313817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2

3.3
4.4

Question Number : 58 Question Id : 34212313818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212313818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212313819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212313819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.3
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Question Number : 60 Question Id : 34212313820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212313820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212313821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 34212313821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 34212313822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212313822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212313823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212313823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 34212313824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212313824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212313825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.3
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Question Number : 65 Question Id : 34212313825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212313826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212313826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ ol i 1S (S 4408 )yl Sy

O (iae ]
OB daal by 2
L&)l 3
lard il 4



Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212313827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212313827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3



4.4

Question Number : 68 Question Id : 34212313828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212313828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212313829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212313829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212313830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2

3.3
4.4

Question Number : 70 Question Id : 34212313830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i S e il Gl g ¢ g3 s |10 A e
S B d M sl e s e Sead 5 U o B Seliay S
|1‘-!-,-1
S B s oS dmmom " e sl " b
Susp dp |1
S g e g 2
Bomg e i 3
\S (a0 Cﬂj,ﬁ_} 4
Options :
1.1
2.2

3.3
4.4

Question Number : 71 Question Id : 34212313831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212313831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212313832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212313832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212313833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4



Question Number : 73 Question Id : 34212313833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 34212313834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2

3.3
4.4

Question Number : 74 Question Id : 34212313834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2

3.3
4.4

Question Number : 75 Question Id : 34212313835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212313835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
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Question Number : 76 Question Id : 34212313836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212313836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 34212313837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212313837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212313838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2



3.3
4.4

Question Number : 78 Question Id : 34212313838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212313839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"é.ﬁh&.ﬁﬁh}_}m1 &_}A@_)Su:u.;.ad t._uL‘-;_'-.

§ = dald (e (55800 S

S ) L]

ol a2

anad 1583

s e el 4

Options :

1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212313839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212313840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212313840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

f o "Jde Suma"Olse Wb Ao SJsLS

A Sld ]
BRO A2
LprKA& 3
Options :
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Question Number : 81 Question Id : 34212313841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212313841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212313842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212313842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212313843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2



3.3
4.4

Question Number : 83 Question Id : 34212313843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212313844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212313844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212313845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 34212313845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Number : 86 Question Id : 34212313846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212313846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212313847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212313847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212313848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212313848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212313849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212313849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 90 Question Id : 34212313850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ol A5 et (S b)) m R S ele lugsSes
o S g latia it

Gl 2
GOlales 3
&L 4
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212313850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o8l A8 el (S b)) 2 S mele L Sess
o e S iy Blaia il

clolad 2
Glales 3
=M 4
Options:
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212313851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (Ll (S Qi fmaaa e lbe) S ilay & )G
) i 3 ga3a (A)

A ) (s deaa (B)

593 Olarlis s (C)

il Gl juai (D)

Choose the correct answer from the options given below :

e B 1)
2. B,D,AC
3. D,AB,C
4. A,B,C,D

Options:

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 34212313851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



'E‘.;:’S tf;":ul'“;" &.sj G ) (el JL.G;I' é L}Euﬂi C‘Uu
i 5e3a (A)

.‘flj‘ O lana (B)

S 935 Jladls aus (C)

sk (pill juai (D)

Choose the correct answer from the options given below :

. B,A,C,D
2. B,D,AC
3. D.AB.C
4. A, B,C,D

Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 34212313852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (3l (S QS e el S celdl .

sl s (A)
s Sl (B)
e j& (C)
354 (D)
Choose the correct answer from the options given below :
. Bol.a. 1
2. A,B,CD,
3. B.GDUA
4. D,A,C,B,
Options :
1.1
2.2

3.3



4.4

Question Number : 92 Question Id : 34212313852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-E\_;::SLFJMLE‘_,,S #j@mafjhhiéﬁzu1w

sl Sl (A)
g clba (B)
Qe JE:.LJ (C)
Gso4l (D)
Choose the correct answer from the options given below :
. BC.AD
2. ABCD,
3. BC DA
4, D, A,C,B,
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212313853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@‘Aﬁs el (S s (it kel é ool GJ‘E

el (A)

33 (B)

13 355 g ) e (C)

s B Jsea (D)

Choose the correct answer from the options given below :

1. B,D,CA,
2, € DARB,
3. G.B.&D.
4. D,A,B,C,



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212313853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S il S Qi fmsia el S flan & S

el ) (A)
352 (B)
13 gos g y Maaa (C)
S e diea (D)
Choose the correct answer from the options given below :
1. B.D A
2, .DhARB
3. GB.ALD,
4. D,A,B,C,
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212313854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S @ i msaa e Jlie) S iy )l
S Qo (A)

sl S8 (B)

@l ke A5 (O)

TBLNTONLENG))

Choose the correct answer from the options given below :

1. B,C,D, A,
3. CBAD
1. ACDBRB
4. C,A,D,B,

Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 34212313854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.g‘l.'_.ﬁsu.‘}.‘liu&ié uﬁﬁj@a.‘.a:m)\.ﬁ.c.'l é&ﬁjajﬁ
e Qo (A)

sl Sé (B)

@\l alae 3 (Q)

s %3 A5 (D)

Choose the correct answer from the options given below :

1. B,C,D,A,
2. C,B,A,D,
3. ACDB,
4. C,A,D,B,

Options :

1.1

2.2

3.3

4.4



Question Number : 95 Question Id : 34212313855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.dﬁsdmméuﬁjwcahj&\éﬁcu1 C—-‘::\JU

Mgl (A)
o= (B)
i lae Al (C)
sdi s (D)
Choose the correct answer from the options given below :
1. C,B,D,A,
2. D,AB,C,
3. D.AC B,
4. B,D,A,C,
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212313855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.dﬁsdmméuﬁjwfhjhﬁc\é&cu1 C-'-';JJU

Mgl (A)
o <= (B)
i lae Al (O)
< i< (D)
Choose the correct answer from the options given below :
1. C,B,D,A,
2. DABLC,
3 D.AG B
4, B,D, A,C,
Options :

1.1
2.2
3.3



4.4

Question Number : 96 Question Id : 34212313856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=S (LSS (Sl puaia wlie) S flan gy )5

oY) jidl (A)
>m (C)
2300 (D)

Choose the correct answer from the options given below :

. B,D,C,A,
2. A,D,B,C,
3. C,B,D,A,
4. B,A,C,D,

Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 34212313856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (Al (S f e el S Gililag & )6

Ol yial (A)
> (C)
2 -0 (D)

Choose the correct answer from the options given below :

1. B,D,C,A,
2. AD,B,C,
3. CB.D.A,
4. B,A,C,D,

Options :



1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212313857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- S (2l S fimsaa o liie) Saldy g )

Cuds (A)
= (B)
Jl (O)
Ll Al S (D)
Choose the correct answer from the options given
below :
1. CB,D,A,
2. D,B,CA,
3. B,D,A,C,
4. A,B,C,D,
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212313857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



- S ol Sl fimaaa w jlde) Saldy sl

Cuds (A)
= (B)
Jdul (C)
Ll Al S (D)
Choose the correct answer from the options given
below :
1., C,B.D.A,
2. D,B,CA,
3. B,D,A,C,
4. A,B,C,D,
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212313858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

. c:uﬁsu.‘mmus a.....t.‘._ﬁ_ﬁam ﬁ)@ﬂlé&ﬂu\'é‘.‘\‘)u
SHSsm (A)

L )3 (B)
Slais (@)
SS 8 (D)
Choose the correct answer from the options given below :
1. D,C,B.A,
2. B,A,D,C,
3. AB,CD,
4. B,C,D, A,
Options :
1.1
2.2

3.3



4.4

Question Number : 98 Question Id : 34212313858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- oS (il (S Qi Pmaaa e ie) SCeldl &)l
S S s (A)

L 2 (B)
Sl (0)
S 8 (D)
Choose the correct answer from the options given below :
. D,G B,A,
2. B,A,D,C,
3. AB,CD,
4. B,C,D, A,
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212313859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.dﬁsdmméugj@;m:meléuu;ﬁ@ﬁ
A 01 (A)

D il i) &3y (B)

oxdadallae (C)

I 3L 1)« (D)

Choose the correct answer from the options given below :

. ABCD
2. D.CB.A,
3. BDC.A
4. C,D,A,B,



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212313859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.dﬁsdumé@’j@;@:ﬁﬁmié@uﬂ@ﬁ
L e (A)

D gdl () S (B)

Domadallae (€)

I 52 1)« (D)

Choose the correct answer from the options given below :

1. #:B,C. D
2 D.C.B.A,
3. B,D,CA,
4. C,D,A,B,

Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 34212313860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (L (S QS maea e llie) Sl 0
wile 2aal aala (A)

P oells @ (B)
N ®

S ¢5iu ial ) (D)
Choose the correct answer from the options given below :
1. D.A C, B,
2. D.ABU,
3. G B,A,D,
4, B,C,D, A,
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212313860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (ol (S Qi i maia e ldie) Sl L
wile 2aal aala (A)

S oalls 3 (B)
SHip Sz (C)

s ¢S aial ) (D)
Choose the correct answer from the options given below :
1. D.A C, B,
2. D.ABU,
3. G B,A,D,
4, B,C,D, A,
Options :
1.1
2.2
3.3

4.4



Question Number : 101 Question Id : 34212313861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (Al (Sl i maia w lde) S Celdl @Ju

o8 g ol A3 se (A)
el 5 miiana (B)
Ca o (€)

RIS ya8s g)) (D)

Choose the correct answer from the options given below :

1. DA B,C,
2. .B.D.4.
3. B,D.AC,
4. C,B,A,D,

Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 34212313861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S il S #j@;m:a‘)hh\éﬁnﬂljaqju

o8 g ol A3 se (A)
el 5 miiana (B)
Ca o (€)

RIS ya8s g)) (D)

Choose the correct answer from the options given below :

. D& B.C
2. C,B,D,A,
3. B,D,A,C,
4. C,B,A,D,

Options :
1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 34212313862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (ol Sl fuaia w jlde) Saldy & )
Sijbaia 28 (A)

seal (pll S (B)

P58 gaa )l el (C)

s sLEisl (D)

Choose the correct answer from the options given below :

1. D,B,CA,
2. €, B.D.A,
3. B.D AL,
4. C,D,B, A,

Options:

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 34212313862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S L (St i maaa w Juie] Scldy )l
Sk dia 2 8 (A)

2aal (pall i€ (B)

B384 el Gl (€)

(i pLiGa) (D)

Choose the correct answer from the options given below :

. DB C.A
2. ,B.D.A&
3. B.D.aAC,
4. C,D,B,A,

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 34212313863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (ol (S i i msia el S ilay & 6
e Ui Gle Jlial (A)

Gallae (B)

U s 8 (0)

33glue a8 (D)

Choose the correct answer from the options given below :

. C.B.AD,
2. B.D AL
3. B.C,D,A,
4. D, B,C, A,

Options :

1.1

2.2

3.3

4.4



Question Number : 103 Question Id : 34212313863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (ol (S i i mmaa e liie] S llilay &
e U e il (A)

Gallae (B)

o dia L8 (C)

3g35llue a8 (D)

Choose the correct answer from the options given below :

I, C.B;AD,
3. B.bAC.
3. B.(;D,A,
4. D,B,C,A,

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 34212313864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=8 Ul (S Gl e lie] Solé

G.l'ls. gl ) H! (A)

S s &5 (B)

~a 5l (0)

&Sl (D)

Choose the correct answer from the options given below :

I;: BADUC,
2. B.D AC,
3. A,BCD,
4. D,C,AB,

Options :
1.1



2.2
3.3
4.4

Question Number : 104 Question Id : 34212313864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=S Ul (S Gl e o el Sl

S sl 2 el (A)
Sy &5 (B)
~a 5l (0)
s s (D)
Choose the correct answer from the options given below :
I;: BADUC,
2. B.D AC,
3. ABC.D
4. D,C, A,B,
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212313865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oS (Ul (S fmaaa o el S el G

Jsal (A)
o) <= (B)
. w= (O
e Si53)) (D)
Choose the correct answer from the options given below :
1. D,C,B,A,
2. D.A,B,C,
3. AL.BD,
4, C,A,D,B,
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212313865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P e GG e ) Rl

Jsal (A)
o) <= (B)
S (O)
isire 5530 (D)
Choose the correct answer from the options given below :
1. D,C,B,A,
2. D.A,B,C,
3. ACB,D,
4. C,A,D,B,
Options :
1.1
2.2
3.3

4.4



Question Number : 106 Question Id : 34212313866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LA (S sy mmaia. hle o 5l pumsia s je) 53 e 2

=S =S pstea S G55l ar (S Ol (S O e S (A)
0 8 aadlae S 5l gaal
Wo a8 sty S 5 S ol Syl o @l wa" (B)
e il
E " LJ}L‘Q" :Fﬂaa é ITH'I'I e U"‘;,::' ?lc 5y "*Ll:‘:"“"'Tl C
s LS aallas &)

-EiJLﬂm‘:mﬁ"_,ﬁ".léﬂ@JEjd_ﬂ&SJ (D)

C s/ B
B LJA
D _sC
D Jsd A

S LD B

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212313866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AL (S gy jmma. hle 0 ) pnmaaa s ) 3 il

L

S S8 pstae S O)lsla (S O oS ope " Slesi i (A)
oy =S allas S ol sual

Woe plalS Gsinyh S S8 gl Syl pne" Gl pa" (B)
.= Ul

K" LJ}L“?" :‘ﬂ_'u é niain U e ?lc_ 5y '1“;‘@""" (C)
ks LS nalllas

-CjJLﬂmdx_M"_,ﬁ"Lﬂ@JEjJJ]&SJ (D)

)9 B
o8 A
)9 C
o8l A

S S R N
wiwivr i@

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212313867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



_é'&ﬂ:’ﬁd{u;f}éfr,l;zlf‘u;:!g_?gf_.f}nuﬁdj

Guae dia (S (e saaalS S S pasua a3 (A)

-d"LJLv-ﬂ“’:'
Ciial (S i arad pund g "6 )G S e il 531" (B)
| =]
(oS sl SIS " S NS e b 3 S 35T (C)
.‘,,._._Jt—i-u--m",' 3
el S coguaa St Sttt sy (D)
'd""ﬂu}
1. A 3D
2. B LlC
3. A JC
4, C L9 D
Options:
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212313867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



_é'&ﬂ:’ﬁd{u;f}éfr,l;zlf‘u;:!g_?gf_.f}nuﬁdj

Guae dia (S (e saaalS S S pasua a3 (A)

-d"LJLv-ﬂ“’:'
Ciial (S i arad pund g "6 )G S e il 531" (B)
| =]
(oS sl SIS " S NS e b 3 S 35T (C)
.‘,,._._Jt—i-u--m",' 3
el S coguaa St Sttt sy (D)
'd""ﬂu}
1. A 3D
2. B LlC
3. A JC
4, C L9 D
Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212313868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el (S Oy pjmmaa ble g )l pnmsaas je) g3 il

wn om am

"upe A ek Gl gita g3 )l " el M ailida g 1 S 921" (A)
03 URES Al (S e ia LS

o) i lae Al gln g 8L JI R A Gua 0G5 (B)
Ald S 2 a@ idnd _Sdgal A3 ¢S 3l gl

HEL
e s ) (BT S s (i S 3535llae 2l (C)
-YLS\JGQ_! "tS‘:g1
S e Q5 " QUS all SOl (S 55 ol (s (D)
e el 9.1:::.0
1. C LA
2. B _JA
3. D ,C
4. C L3 B
Options:
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212313868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el (S Oy pjmmaa ble g )l pnmsaas je) g3 il

wn om am

"upe A ek Gl gita g3 )l " el M ailida g 1 S 921" (A)
03 URES Al (S e ia LS

o) i lae Al gln g 8L JI R A Gua 0G5 (B)
Ald S 2 a@ idnd _Sdgal A3 ¢S 3l gl

LS
& _pac" A.ILA.»J‘H-‘-‘M.._,“ PR :""(SIE"JC.‘JJJJHJP GH:L?‘ (C)
Yﬁgﬁ"é‘
SS9 (e g 8" AUS ) SOl (S 53 Nl ae (D)
{::1(554"1.:11.1:9.1:2.0
1. C s A
2. B JJA
3. D ,C
4. C ) B
Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212313869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2l (S gy e jraaa. bl 0 sl umisaas je) 93 (e a2
OB daal s e )l ) jilis (A)

Cea (otinan. il S (s o8 o lils (B)

Bl s gy wum-"éuudjs (C)

L&) e gae Blad S ns ghas o) (D)

1. B i C
2. C_LsD
3. A LJB
4. D s A



2.2
3.3
4.4

Question Number : 109 Question Id : 34212313869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L (S g mmaaa. bl 00 )l Gnmmaas ) 30 il
OB daa) s ) ) O Jilss (A)

e (e s S (ea 6 2 Ula (B)

AU s gaeen e o) S el S (C)

2Ll gl e illad S ada ghas o4l (D)

1. B L C
2. L a0l

3. A B

4. D Ly A
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 34212313870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



N (S gy e maaa blE 0 sl Gnmsaas we) g0 ome dil

W ow am

-deﬂ“i‘ﬁﬁ‘ﬂsﬁﬁ)ﬂ‘}uﬁ%ﬁé‘ﬁu (A)
L}ﬁJhJJEﬁﬂJ‘ﬁum&njlséﬁﬁcmwws")u (B)

.:.EJ‘I.}J._LJ: ‘l.SL:JLJ#‘)JaJé
csile (o (S ST S S 5T iy (B (3a 25 S le (C)
o
=S Sl (Sl ks STl penis S 3G (D)
1. D s C
2. C L5B
3. B _sA
4. D L5 A
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212313870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dﬁméuji}njw. LEJJJJ‘LJ#@L@L_)AJ __g.‘luﬂ.ad:t&

I

= o) QS i il e i (S50 (A)
L)..:S_)LAJJ\S jﬁdj‘lﬁu&ujnjlﬁ%&ﬁ:ﬂw&q)u (B)

.C.EJ'I.}J._LAI: lﬂﬂhﬂ)laaé
(sl (o S a3 S K a Sy B 58 (e 35 (oSl (C)
"
=S (S @l (Sl ki STl peais S 3G (D)
. D _dC
2. C 4B
3. B A
4. D Ui A
Options :

1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 34212313871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LI (S g e jmusaadale g3 )l pumsia s je) 93 pe did

o

o s (b (A)
Somisi i e (B)
3 31 g3l (B Sl (0)
ot g 253 (D)

IR —
.

C

k‘.—-l-

5,

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212313871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UL (S g pjmmaadale 0 ol pumsia s je) 930 di

wmow g

o e 0l (A)
i Sl e (B)
3 31l S Sl (0)
ot ol g 353 (D)

1. A Js B
2. A ,C
3. C ,dD
4. A L3 D



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212313872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

_é(ﬁiﬁ'fJu:/.}g-ﬁs:xjiujg;/jndjién

-c;_"ﬁfoﬂ”;yfllgb’u;jwfizgdflif (A)

_c“_."ZT:.UJJU-";}fi&{,gu;uliifdfﬁ/? (B)
-a:'_."k,ub/J T"JJL’L&:",K;;&’J.?) 5/ (C)
"o E " ki ) (©)

D L C
B JdA
D JsB
C Jd A

- e

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212313872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



_é&i&fdl':/}éﬁ-ﬁﬁwﬂuﬁg;/},udjién

..dn"_."JE’.JJL:;JJ”J}f%gu;ufiﬂf\jfﬁ; (A)

_c:_."ii:.uul?«";}f%(UJJLJILJEJRIE; (B)
-d"_.”k,r‘,!gj T”JJL'U;‘;",KJ;},"JR 5/ (C)
" b 2 e S ©)

S
B sl A
D Ls'B
C LA

i

Options:
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212313873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S V) Taea ble J-"Jj‘u.ﬁ@amaﬁjﬁu#&,ﬁaﬂ;j
- .TDJS*--* Lt A

S g 5 e S 850 (A)
¢S aaal e 515 (B)
e daal.guale (O)

D
A 5B
(
¢

o

Options :
1.1
2.2
3.3
4.4



Question Number : 113 Question Id : 34212313873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S V) maea ble J-"Jj‘uﬁ@émaﬁjﬁwnhﬁaﬁ::
- .TDJS*--* Lt A

S g 5 e S 850 (A)
¢S aaal e 515 (B)
iy daalgale (C)
Cran s g udl il (D)

D Js A
A L5'B
C JLsB
C s D

Options :
1.1
2.2
3.3
4.4

o

Question Number : 114 Question Id : 34212313874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S usrimaable 0 sl pumaa s ) R ueddze
.EHS u‘.“uL"‘"

ose &) AVY Gl "ISal Al ) L A Sl Wl 53 (A)
.iﬁ cju

st U "l g pac™ Yol "Slaua" LT (B)
.1_9:1 c_}\.& BUYARYYA

- PDRIIPE. DL (3 S0 ORI (VPO )
=t A2 90 e il S puagd faial] g lS

23 (5 stie Mle 53y 1S Slaa el )3 (3illas S (s aas (D)
= Sy

B Ly A
C 5B
D _sC
D Js A

ol A oy



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212313874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Susr)maadle o sl pumaa s ) Poedidz e

.dﬁsdmhu

ose &) AVY ) "ISal Al b L 'Sl LSS (A)
-i_ﬁ cju

Jod-s st O "l g pae™ S (g "Slaua" L3 (B)
-\_H GL:L BURARYYA

Slawia . s el (35 4SS Slawia Billaa S (s Jeaa (C)
=t A g o il S puagd falal]) g S

23S (5 gl 2ala (52l 1S Slawa lal 3 3ilhe S (uis 2ana (D)
= soeu il

1. B
2. L
3. D _sC
4. D

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212313875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LS (S Gy ) mmaaa bl 50 )9l Gnmsaa s pe) 30 diR

035 6N ol e lild (Al g21 (A)

O dia gl 5351 (B)

S M Ay S Sl (S 52)) (C€)

O B Cladi 58 ) 5l Dl e (D)

A LD
B LsC
A sC
B ,s D

£ L PO —

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212313875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LS (S Gy ) mmaaa bl 0 )9l Gnmsaa s pe) 30 diR
030 6 Gl e Slild Sl g2 (A)

O dia Pl 5351 (B)

&) e d S Ll (S 501 (C)

O B Claasi 8 ) 5l D sa (D)

A
B _sC
A
B

£ 2 PO —

Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212313876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LS (S gy e maadhle 0 5l pumisaa s e g3 i

e o888 Mdlaall s 5l S lall (5 5 (S oual 2 (A)
‘D

o5 "dlaadl a5l Slall i M (5 5 (S (a5 (B)

= a0 22 0 el et s (S (Sl (O)

30 0 o "Bhe GAR" (6 5 (g 93 (S Sl (D)

C s D
D JdA
C LA
C s B

Options :
1.1
2.2
3.3
4.4

Lo —

Question Number : 116 Question Id : 34212313876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0l (S gy ejmmaadle o )l pumisia s e 30 d

e oSS 8 Mleall s 5l S lall (5 585 (S oual 2 (A)
D

o5l "dlaadl a5l Sl a5 5 (S (a2 (B)

e ma ) e )6 el (e st (S (Jead (C)

-

e 20 o "Bhe QAR (551 (6 53 (S (S ai (D)

=
I, € a1
2. D LA
3. € a9A
4. C L5 B



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212313877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
UL (S gy jmmaaakle o ) gumisia s ) 53 gpe di2

oslly S hadiun ysiud e Ly S paiaig 35 (A)
;:ﬂ""d“'l"i’uﬂ" ﬁUﬁijﬂliw

o S (i (S Syl (A 5 e D plaa (S ks sl (B)
uﬁﬁm

st 53 daia (e Al Hdes i SRS Ny (B 5 e 51478 581 (C)

2 i S a3 S a5l Ny 3 e 520" (D)

1. B L3 D
2. € 2D
3. A _slC
4. B s C
Options

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 34212313877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LG (S g e jrmaadale 93 gl pumiaia s 3 ) 99 gm0

ol S ladius pgid e g SSGaidie 5 (A)
.C@‘&uuﬁﬁuaémﬁﬁw

O IS (i (S S paiainy (A5 e G plaa (S oy s (B)
uﬁﬁm

w39 dnia (e Ll Hdea (i IS Sy (B 5 (e 14T 681 (C)

o il (S deal e S et (o) ks (B e )" (D)

. B s D
2. € »D
3. A LiC
4. B s C
Options

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 34212313878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
L (S Gy ey maaakle 93 ol pumsaa s e 930 i

Citbaal (pa il ) S L olidaly ol dana " By S" (A)
TRk

e i8Il R g ) oS "Gudaasa "L MgIS Jy S S Ll (B)
=4S

(3 iaall (e e 3 "8 Ay 8" (C)

-0 ol oyl gl edie i e " S 8" (D)

1. B s A
2. L B
3. D ,sC
4. D L5 A
Options :

1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 34212313878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

0l S g e jsaadale g0 ol uamisaa oy ) 93 e d

Ciiaat e e ) S L oLials oL dene "€ Js K" (A)
ok

n.n;:-.jls'flt-ﬁ‘ Fu-'ﬂj_) }S "uul_;..an..‘n "1._1__ "l.g_":s JJ_)S ":':‘:_L.bé (B)
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(5 il e e 2 IS S (C)

s pandaas yahy gl —adie (i e "L Ji S (D)

o8 A
)9 B
23 C
o8 A

BN —
CoOw

Options :

2.2
3.3
4.4

Question Number : 119 Question Id : 34212313879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L (S Gy jmaaadle o0 5l Gumsaa s je) 93 gpedid

02l Sl SIS ™ 90 0 0 e gSa _l" aludl (A)
Ol B Jla S0l e " 90 2 0 e gSa il Aldl (B)
=
2480 " o sana (5 ildl S g K juial ) (C)
| = Jald S T ol Al aa g2
Ol 3023 e gSs A" o seaagsildl S (D)
-:‘1{_3?_1 Jali " wﬁ#ﬂ"nﬁ@‘l (Y

1. B _s A
2. C LsB
3. D JsC
4. C L A
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 34212313879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L (S Gy jmaaadle o0 5l Gumsaa s je) 93 gpedid

02l Sl SIS ™ 90 0 0 e gSa _l" aludl (A)
Ol B Jla S0l e " 90 2 0 e gSa il Aldl (B)
=
2480 " o sana (5 ildl S g K juial ) (C)
| = Jald S T ol Al aa g2
Ol 3023 e gSs A" o seaagsildl S (D)
-:‘1{_3?_1 Jali " wﬁ#ﬂ"nﬁ@‘l (Y

1. B _s A
2. C LsB
3. D JsC
4. C L A
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 34212313880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A e oS 70l 2

"S b Sgsho gl mald i Sl 1) (C)
LS a5 50 ) 1S LA i sy

a9 ) LA (i " (S )i _Sgsha glel aal 2 (D)

o3 A
23 C
o8 A
s B

£ LI DO —
@I@Rwier

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212313880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ops dane (e 93)) man i g s o S JLA (g (A)
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e ale (30 93 man i oy s o 1S "0 i (B)
A e oS 70l 2

"S b Sgsho gl mald i Sl 1) (C)
LS a5 50 ) 1S LA i sy

a9 ) LA (i " (S )i _Sgsha glel aal 2 (D)

o3 A
23 C
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s B

£ LI DO —
@I@Rwier

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212313881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LG (S g e jmaadale 93 j pumiaia s ) 99 gm0

sl (S iy ol Uil b S jan ()5 e pai b (A)
et S (S (s
JSL (S ) ) Uil S jaa 509 o pki iy (B)
= o (S on sl
e i (S (el M $SG O g0 S S L) AaDle &
e
Jle sdae (S alai (g jaa Mo S5l 5 0 SA G123 (S U (D)
"
1. B Jd A
2. C s A
3. D LsC
4. D L5 B
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212313881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



LG (S g e jmaadale 93 j pumiaia s ) 99 gm0

sl (S iy ol Uil b S jan ()5 e pai b (A)
et S (S (s
JSL (S ) ) Uil S jaa 509 o pki iy (B)
= o (S on sl
e i (S (el M $SG O g0 S S L) AaDle &
e
Jle sdae (S alai (g jaa Mo S5l 5 0 SA G123 (S U (D)
"
1. B Jd A
2. € A
3. D JsC
4. D L5 B
Options
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212313882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(U (S U3 e geamahle 53 )5l nguae 2 pa) e
Gr s OB (e gagily o phualaingS )L S 1B pua 15 (A)
83 g T 2 Ul 523 Ly gz pliae 5 (B)
Sou LS 58w a e Gl 2 WS 205 (C)
s8R jal 8Tl S )08 S0 (D)

1. C LJ B
2. D LA
3. C UJA

4. D Ls B



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212313882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UL (S s e jmaadale 53 ol Gumaia s ) g il
(o 50 U (0 90egily s s ladingS 5 )b AS 1L pua 1y (A)
S g T e Ul 820 Ly g oy (B)
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Question Number : 123 Question Id : 34212313883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S g5l jale (D)

1. B s A
2. C L5JB
3. D LJA
4. D L C
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 34212313883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Shs s e o (B)

a3 ) (2 0533 (C)
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Question Number : 124 Question Id : 34212313884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A (S Gy e )mmaakle 0 ol pumaia s ) 930 di
lle 5 e gy nS ol S SIBLE 5 (A)
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Options :

1.1
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Question Number : 124 Question Id : 34212313884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 125 Question Id : 34212313885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

N (S g mjmaaakle 5 sl Gnmsaa s ) 9o dit
B 5 5ol e Jae (S oty (S Qlle 1 e (A)

S Sl e e (S 58 S Asalu Qe (B)
s S e VAL s A V0 iy Sl (C)
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C
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Options :
1.1
2.2



3.3
4.4

Question Number : 125 Question Id : 34212313885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

2.2
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Question Number : 126 Question Id : 34212313886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3L (S 9T gmaaa U () S gsS S sl dsb

List I List II
(A) lal a5l yal (I) prae
(B) e e SO (D) g
(C) Ll i) (TID) A sy
(D) z =il 25| (IV) 8,0

Choose the correct answer from the options given below :

1.
2.
3,
4.

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212313886 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

(A)-(II), (B)-(IV), (C)-(I), (D)-(1I)
(A)-(1I), (B)-(II), (C)-(IV), (D)-(I)
(A)-(), (B)-(1V), (C)-(11I), (D)-(1I)
(A)-(ID), (B)-(1V), (C)-(1II), (D)-(I)

(LS (S 9T unaa e (S gy (S Ul S S sl dgl
il
List I List II
(A) lal Sl 1l [ (1) 52
(B) ol 2 S| (ID o
©) LT (1) Fpe
(D) g =l 258 { (IV) S 5l

Choose the correct answer from the options given below :

(A)-(IID), (B)-(IV), (C)-(D), (D)-(1I)
(A)-(I0), (B)-(II), (C)-(IV), (D)-(I)
(A)-(D), (B)-(1V), (C)-(11I), (D)-(1I)
(A)-(I), (B)-(1V), (C)-(11I), (D)-(1)

1.
2.
3,
4,

Options :



1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212313887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S U9 e e i S e sana S Gl ) G ALl

; G_n:\S (51.33'1..13
List I List 1T
(A) xae JUS1 | (T) 5
(B) S S [ (I S8 1
(C) 3T slae Jys | (TI) 268 i
(D) sie s Slas | (IV) = i Al )

Choose the correct answer from the options given below :

L. (A)-(1), (B)-(III), (C)-(1V), (D)-(I)
2. (A)-(IV), (B)-(III), (C)-(1I), (D)-(I)
3. (A)-(In), (B)-(IV), (C)-(D), (D)-(1D)
4. (A)-(II), (B)-(I), (C)-(IV), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 34212313887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S U5 e U i) S Use saaa S O sl JES ML

; G\;:\S (ﬂl.lj'L.ii
List I List II
(A) 2 JUdl | (1) 3y
(B) $b S [ (D) Gl K136
(©) s34l asdae Jaeas | (TID) s LG
(D) st s Salas | (IV) = Al

Choose the correct answer from the options given below :

L. (A)-(D), (B)-(II), (C)-(IV), (D)-(T)
2. (A)-(1V), (B)-I), (C)-(1I), (D)-(T)
3. (A)-(IN), (B)-(IV), (C)-(I), (D)-(ID)
4. (A)-(I), (B)-(I), (C)-(IV), (D)-(I)

Options:

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 34212313888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UL (S 5] 9 ruaia e iy ) S s S Sl gl gl

List I List 11
(A) o | (D) ) anil
(B) ilac AL (I0) A
(©) JUA (i s | (TID) e 23 s
(D) S S S8 S V) rasads Sla

Choose the correct answer from the options given below :

1. (A)-(II), (B)-(1I), (C)-(D), (D)-(IV)
2. (A)-(1), (B)-(1), (C)-(IV), (D)-(11I)
3. (A)-(AV), (B)-(ID), (C)-(1), (D)-(11I)
4. (A)-(I), (B)-(III), (C)-(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 128 Question Id : 34212313888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UL (S 5] 9 ruaia e iy ) S s S Sl gl gl

List I List 11
(A) o | (D) ) anil
(B) ilac AL (I0) A
(©) JUA (i s | (TID) e 23 s
(D) S S S8 S V) rasads Sla

Choose the correct answer from the options given below :

1. (A)-(II), (B)-(1I), (C)-(D), (D)-(IV)
2. (A)-(1), (B)-(1), (C)-(IV), (D)-(11I)
3. (A)-(AV), (B)-(ID), (C)-(1), (D)-(11I)
4. (A)-(I), (B)-(III), (C)-(II), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 34212313889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3L (S (955 e e (A ) S U S Ol sl B 2

S
List I List II
(A) S alal alaal (1) o0 S )l jualas
(B) O pLTA () | (Arie L) Slidle (g SlALs
Sy
©) G 2ea (TID) Gl il
(D) | Kibia a8 (IV) Sl )il

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(II), (C)-(IV), (D)-(D)
2. (A)-(IIn), (B)-(IV), (C)-(I), (D)-(1I)
3. (A)-(V), (B)-(II), (C)-(11I), (D)-(I)
4. (A)-(ID), (B)-(I), (C)-(1I), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 34212313889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3L (S (955 e e (A ) S U S Ol sl B 2

S
List I List II
(A) S alal alaal (1) o0 S )l jualas
(B) O pLTA () | (Arie L) Slidle (g SlALs
Sy
©) G 2ea (TID) Gl il
(D) | Kibia a8 (IV) Sl )il

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(II), (C)-(IV), (D)-(D)
2. (A)-(IIn), (B)-(IV), (C)-(I), (D)-(1I)
3. (A)-(V), (B)-(II), (C)-(11I), (D)-(I)
4. (A)-(ID), (B)-(I), (C)-(1I), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 34212313890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S G e5 s punas

List I List II
(A) Slaa| (1) el
(B) ~kisi| (1) <y
©) o534 | (1T o g
(D) plel s (IV) —

Choose the correct answer from the options given below :

L. (A)-(II), (B)-(II), (C)-(IV), (D)-(I)
2. (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
3. (A)-(), (B)-(IV), (C)-(D), (D)-(1I)
4. (A)-(IV), (B)-(1I), (C)-(1ID), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212313890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (il (S g mnas

List I List II
(A) Saa) () FL
(B) ~Li 5 | (T) ol
(©) s | (1) ol a st
(D) pae) 55| (IV) ald

Choose the correct answer from the options given below :

L. (A)-(II), (B)-(II), (C)-(IV), (D)-(I)
2. (A)-(D), (B)-(1I), (C)-(IV), (D)-(11I)
3. (A)-(IID, (B)-(IV), (C)-(1), (D)-(II)
4. (A)-(IV), (B)-(II), (C)-(1I), (D)-(D)

Options :



1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212313891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (L S 9] praaa —w Jie] SCiias ) QS

List I List I1
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QL
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(C) |5t S O Ly e | (TID) O by
Lad
(D) O 2aal 2| (TV) GBallac

Choose the correct answer from the options given below :

L (A)-(D), (B)-(1I), (C)-(11I), (D)-(IV)
2. (A)-(IV), (B)-(D), (C)-(1I), (D)-(1I)
3. (A)-(m), (B)-(IV), (C)-(I), (D)-(II)
4. (A)-(ID), (B)-(II), (C)-(IV), (D)-(D)

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 34212313891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (LA S 5 9 e Jlie] S Giias ) QIS

List I List I
(A) Ko oyl OB dealas (I Alae A
Ao
(B) OB daalaus yu anllas | (T1) JPPABECKVEN L TEY
(C) [oseb S O sl | (TID) O L 5
L
(D) papaal 0| (V) dailne

Choose the correct answer from the options given below :

L. (A)-(1), (B)-(1D), (C)-(1II), (D)-(1V)
2. (A)-(IV), (B)-(I), (C)~(1I), (D)-(III)
3. (A)-(Im), (B)-(IV), (C)-(I), (D)-(II)
4. (A)-(ID), (B)-(II), (C)-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 34212313892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L S (55 zanaa i) S &S5t )l (s siia

S
List | List II
(A) D 9 Ou s (T) 2515 9A dane Sla
(B) Sy Sy | (T el g
(C) o Jse| (1) e
(D) ~ali sk (IV) (ol

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(IID), (C)-(IV), (D)-(I)
2. (A)-II), (B)-(1), (C)-(IV), (D)-(II)
3. (A)-(), (B)-(II), (C)-(IV), (D)-(II)
4. (A)-ID), (B)-(IID), (C)-(I), (D)-(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 34212313892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



L S (55 zanaa i) S &S5t )l (s siia

List I List II
(A) e 5 0% s (D) 3515 53 Jaaa Sl
(B) Sl | (1) =it
(C) o dse| (1) (e
(D) ~ali sk (IV) (ol

Choose the correct answer from the options given below :

L. (A)-(I), (B)-(IID), (C)-(IV), (D)-(I)
2. (A)-(II), (B)-(I), (C)-(IV), (D)-(II)
3. (A)-(D), (B)-(IID), (C)-(IV), (D)-(ID)
4. (A)-(ID, (B)-(Im), (C)-(D), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 34212313893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (L S (955 s
List I List II
(A) L e | (T) D8 palall e
(B) 0| (10) s ol ke
(©) ~la| (II) 255 Gl i 2 (e
(D) S84 (IV) ) s

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(IV), (C)-(I1), (D)-(I)
2. (A)-(D), (B)-(ID), (C)-(1II), (D)-(IV)
3. (A)-D), (B)-(D), (C)-(1I), (D)-(IV)
4. (A)-(IV), (B)-(ID), (C)-(1), (D)-(11I)

S



Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212313893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (LS (S (555 s
List I List II
(A) A | (I) )8 palall e
(B) o= () D pl) sk
(©) ~la | (11T &5 A i o e
(D) S [(IV) D ae

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(IV), (C)-(I1), (D)-(I)
2. (A)-(D), (B)-(ID), (C)-(1II), (D)-(IV)
3. (A)-(D), (B)-(D), (C)-(10), (D)-(IV)
4. (A)-(IV), (B)-(ID), (C)-(1), (D)-(III)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212313894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S T puaaa e lie) Siias )yl QIS

List I List II
(A) |yl ClSG |[ () @l aadae LG
(B) e 1 e o8 e
(C) Jba &) sea | (1) Judl ~adle
(D) plS cpa | (IV) e 1)

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(II), (C)-(IV), (D)-(I)
2. (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
3. (A)-), (B)-(I), (C)-(1V), (D)-(I)
4. (A)-(ID), (B)-(IV), (C)-(1), (D)-(11I)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212313894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S ol S S e —w Jlie) _Scaiias gl QIS

List I List II
(A) L IS (1) T e I3
(B) s (ID e o e
©) Jo2 & a | (1) J& e
(D) 2l G [ (IV) Qe 1) 5

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(II), (C)-(IV), (D)-(I)
2. (A)-(D), (B)-(1I), (C)-(IV), (D)-(11I)
3. (A)-(IID, (B)-(I), (C)-(IV), (D)-(I)
4. (A)-I), (B)-(IV), (C)-(D), (D)-(111)

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212313895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (Il (S S s
List I List II
(A) 2l 35| (D) el G
(B) B8 gl puadd) (D) ki )6
(©) 52 g8 ks [ (TID) LS il
(D) el 3 S(IV) D

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(IV), (C)-(I), (D)-(I1I)
2. (A)-(D), (B)-(IV), (C)-(1I), (D)-(1II)
3. (A)-(IV), (B)-(I1), (C)-(D), (D)-(1)
4. (A)-(I), (B)-(1V), (C)-(ID), (D)-(D)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212313895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S (9550 s

List I List 1I
(A) 2l e (D) el
(B) B8 Gl el | (T0) e (e
(©) 32z s [ (TID) LS ol
(D) Oal 636 S| (V) el ad

Choose the correct answer from the options given below :

L. (A)-(ID), (B)-(IV), (C)-(1), (D)-(I1I)
2. (A)-(D), (B)-(IV), (C)-(1I), (D)-(11I)
3. (A)-(IV), (B)-(1L), (C)-(D), (D)-(1I)
4. (A)-(I), (B)-(1V), (C)-(ID), (D)-(D)

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212313896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (LI (S 555 s

List I List I
A) | s liywen Sdhal @D [ wiKe &)
(B) | 23S siadS 3 ysia L A(ID) EPAEE

(D) | s~ x5l Jia (e Wid[(IV) | (2lise G s

Choose the correct answer from the options given below :

(A)-(1ID), (B)-(1V), (C)-(I), (D)-(1I)
2. (A)-(I), (B)-(I), (C)-(IV), (D)-(I)
3. (A)-(IID, (B)-(II), (C)-(IV), (D)-(I)
4. (A)-(D), (B)-(1), (C)-(11), (D)-(IV)

Options :

[—
.



1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212313896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (U (S 55 e
List I List II
A) | S olnsein Sdab @) [ exs 8
(B) | A8 s 3 osia LS 0 A[(TD) il

(D) | 232 >2 ) 530 Ja e W[ (IV) | lose S

Choose the correct answer from the options given below :

1. (A)-(II), (B)-(IV), (C)-(I), (D)-(II)
2. (A)-(I), (B)-(III), (C)-(IV), (D)~(I)
3. (A)-(I), (B)-II), (C)-(IV), (D)-(I)
4. (A)-(I), (B)-(1I), (C)-(11I), (D)~(IV)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 34212313897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S G e5 s punas

List I List II
(A) s U s () N oK
(B) el e [ (I 53, ¢
(€) Gl e 1 [ (1) DS
(D) s> e B (IV) il 15K

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(I), (C)-(III), (D)-(II)
2. (A)-(I), (B)-(I), (C)-(IV), (D)-(11I)
3. (A)-(IV), (B)-(ID), (C)-(1), (D)-(11I)
4. (A)-(I), (B)-(1I), (C)-(1I), (D)~(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 34212313897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S (il (S g mnas
List I List 1I
(A) Sow o s () 5 oK
(B) wagndl e il (1) 55 EL
(©) bl e 1 | (1) D
(D) Osa e B[ (V) Sila ) K

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(I), (C)-(III), (D)-(II)
2. (A)-I), (B)-(D), (C)-(IV), (D)-(11I)
3. (A)-(IV), (B)-(I), (C)-(1), (D)-(11I)
4. (A)-(D), (B)-(IID), (C)-(1I), (D)-(IV)

Options :



1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212313898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Al S g5 maia i Jlie) S eld il alas

List I List II
(A) R s il i s
(B) ks (ID) Ul Al S
(€) 3 el S Sa [ (D) ol e 533
(D) b b [ (IV) & ai rabald (3204

Choose the correct answer from the options given below :

L. (A)-(I), (B)-(IV), (C)-(ID), (D)-(D)
2. (A)-(D), (B)-(II), (C)-(IV), (D)-~(11I)
3. (A)-(IV), (B)-(IID), (C)-(I), (D)-(1I)
4. (A)-(ID), (B)-(IV), (C)-(1L), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 34212313898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S Al S T e el S eld sl pla

List I List II
(A) k| (D @l e Gisa
(B) s> | (D) 3l AV S
(C) 3 3 S S [ (TID) Gl (ae p 523
(D) e )L (IV) (6 ik nabald (20

Choose the correct answer from the options given below :

L. (A)-(II), (B)-(IV), (C)-(II), (D)-(I)
2. (A)-(D), (B)-(ID), (C)-(1V), (D)-(11)
3. (A)-(IV), (B)-(II), (C)-(I), (D)-(1I)
4. (A)-(I), (B)-(1V), (C)-(1II), (D)~(1)

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 34212313899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LA (S s s praaa i Jlie) S5 )G il ) il

List I List II
(A) S YLD Gala JS
(B) LG Jles 2eal| (TD) K U n e S U
(C) (sda deal 25| (I1T) seld s
(D) (s 53 2aal (3l | (TV) BE .S

Choose the correct answer from the options given below :

L. (A)-(D), (B)-(II), (C)-(1I), (D)-(IV)
2. (A)-(ID), (B)-(IV), (C)-(D), (D)-(11I)
3. (A)-(IV), (B)-(I), (C)~(I0), (D)-(1D)
4.

(A)-(II), (B)-(IV), (C)-(I), (D)-(1D)



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212313899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i S a5 praaa —u Jlie) S g )G il ) il

List I List IT
(A) oS AV LS |(D iala S o
(B) LG Jles 2eal[ (TD) K U m e S U
©) shia 2eal 55| (TID) el s
(D) (s 53 2aal (3l | (TV) BE .S

Choose the correct answer from the options given below :

L. (A)-(D), (B)-(II), (C)-(1I), (D)-(IV)
2. (A)-(1), (B)-(IV), (C)-(I), (D)-(11T)
3. (A)-(IV), (B)-(D), (C)-(III), (D)-(I)
4. (A)-(I), (B)-(IV), (C)-(1), (D)-(11)

Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 34212313900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S (Al (S T puaaa e liie) SIS )l Chiias

List List 11
(A) 30 31 AN 50l Y 5a{ (1) 2 5l
(B) U daal 2wy (1) @S|k
(©) Gallae 6l 5a | (IID) pac i dia
(D) 3 s 2aas [ (IV) obls le

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(I), (C)-(IIL), (D)-(I)
2. (A)-(1), (B)-(II), (C)-(IV), (D)~(I)
3. (A)-(ID), (B)-(IV), (C)-(1), (D)-(1I)
4. (A)-(IV), (B)-(1), (C)-(1II), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 34212313900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S ol S S e Jlie) S QUS o) Calias

List I List II
(A) 31 31 2D 52 BY 5a [ (1) 2 & gl Sl
(B) U daal syl (T1) G5 U0
(©) Gallae (s 51 5o (TID) ac a i
(D) 35 s 2aaa | (IV) ohls ke

Choose the correct answer from the options given below :

L. (A)-(IV), (B)-(II), (C)-(I1I), (D)-(I)
2. (A)-(I), (B)-(ID), (C)-(IV), (D)-(I)
3. (A)-(IID, (B)-(IV), (C)-(1), (D)-(II)
4. (A)-(IV), (B)-(D), (C)-(1lI), (D)-(1I)

Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123544
Question Shuffling Allowed : No

Question Id : 34212313901 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

I@}ylﬁu:fnJJFsU/‘ﬁZ%.)d:dipﬂ
Bl fow ey el vved dd
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'ﬁ 3/:?}’ :( s 3)’ LYY '}5 SA) S ¢ U L,',tfhgf ¥
Bhfe i B8 o Joe iy
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lsa v f e g e b U /'f" Ll ed
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Sub questions

Question Number : 141 Question Id : 34212313902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T a5 LS S aise G el YU g 0

S pdl 1
a2
a3
il e 4
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212313903 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
fun 2SS S sisle

b ol (Mg V2 (s S Osmlin e Kia o sl ]

and Sl (S
s 3

Jdse Sy 4

Options:

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 34212313904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

f 2 delS —uw JIIS jaa
O alal G e ]
rasdla S (e &pan 2
B3 )8 we & pas 3

G plal & s 4

Options :



1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212313905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"15 j\flfscwiulljfihﬂ

L'}_.}...u:..‘;ui O paas ()
S Jie G paa 4
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212313906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Criia (o 08 U2 "deg 03l Jsed" S = pan g i S

P

- Y _.-'. : ]

Gl a2

Cuali ol Gt 3

Aéjle Bl 4

Options :

1.1
2.2
3.3
4.4

Question Id : 34212313901 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)



Question Label : Comprehension
IEijgl;?u:fnd/u’gsld/jZf%deigjﬁ
Bl Fhiiid ol dvie L g
SETT S e, SLoib L& L s e
(o b o) gl B KﬂdjﬁLwJﬂgéuu

')6 3/;%’ f Js¥ i Uik o '15 SAJ S Ul ¥
i diomes e B o Jdoa i/
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Wy o 03 ot of B Wy o f LS oe B id
Sub questions

Question Number : 141 Question Id : 34212313902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ton Ga3 (S S afije oS el Yoz 0

Sle a1
Haa D
e 3
ol e 4

Options :

1.1

2.2

3.3



4.4

Question Number : 142 Question Id : 34212313903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fom S8 S Gisls

Db ol s Y3 Gisa S Usmbie pe Ka e s cails ]

and S S i
soih 3

dse 8 netl

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 34212313904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212313905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"15 J\Jﬂlﬂscuiquf{_ﬁ

L'H*uf.‘u.h O s )
e Olaie O s 4
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212313906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cimia (o 058 U0 "Jeg sl Jsed" S 2 pae o ol S 2y L

=
sali ST RIS ]
Gl ol Cixtaa 3
Al jle s 4
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 342123545
Question Shuffling Allowed : No

Question Id : 34212313907 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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=S Sy iy (S
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Sub questions

Question Number : 146 Question Id : 34212313908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T S S ) adae

Fabe S oS osl ol sicomldal ]

‘-I'."l:""‘"". é LJJ:"L:“JL.‘ 2
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Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212313909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



G oA L
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aduall B3
LK U4
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212313910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁ&ugég Qai}h..ﬂ
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212313911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T S S ity
EL15 b S L8 S S Sy L1
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Options :
1.1
2.2

3.3



4.4

Question Number : 150 Question Id : 34212313912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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okl il 1
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Options :

1.1
2.2
3.3
4.4

Question Id : 34212313907 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212313908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212313909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212313910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?ﬁ&ugég Qai}h..ﬂ

S ]
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2Sdes 3
AS S Sls oot 4
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212313911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gblup Spliu,s 4
Options :
1.1
2.2

3.3



4.4

Question Number : 150 Question Id : 34212313912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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